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1. If 𝐴 = #
−1
2
3
( and 𝐵 = [−2 −1 −4], verify that (𝐴𝐵)! = 𝐵!𝐴!. 

2. If 𝐴 = #
3
5
2
( and 𝐵 = [1 0 4], verify that (𝐴𝐵)! = 𝐵!𝐴!. 

3. If 𝐴 = 1cos 𝜃 − sin 𝜃
sin 𝜃 cos 𝜃 8, then find the values of 𝜃 sa8sfying the equa8on 𝐴! + 𝐴 =

𝐼". 

4. Find the values of 𝑥, 𝑦, 𝑧 if the matrix 𝐴 = #
0 2𝑦 𝑧
𝑥 𝑦 −𝑧
𝑥 −𝑦 𝑧

( sa8sfy the equa8on 𝐴!𝐴 =

𝐼#. 

5.   If 𝐴! = #
3 4
−1 2
0 1

( and 𝐵 = 1−1 2 1
1 2 38, find 𝐴! − 𝐵!. 

6. Show that the elements on the main diagonal of a skew – symmetric matrix are all 
zero. 

7. If the matrix 𝐴 = #
0 𝑎 3
2 𝑏 −1
𝑐 1 0

( is skew – symmetric, find the values of 𝑎, 𝑏	𝑎𝑛𝑑	𝑐. 

8. Show that the matrix 𝐵!𝐴𝐵 is symmetric or skew – symmetric according as 𝐴 is 
symmetric or skew – symmetric. 

9. Express the matrix 𝐴 = #
4 2 −1
3 5 7
1 −2 1

( as the sum of a symmetric and a skew – 

symmetric matrix. 

10. Express the matrix 𝐴 = 13 −4
1 −18 as the sum of a symmetric and a skew – symmetric 

matrix. 
11. If 𝐴 and 𝐵 are symmetric matrices, then show that 𝐴𝐵 is symmetric iff 𝐴𝐵 =

𝐵𝐴	𝑖. 𝑒	𝐴 and 𝐵 commute. 

𝐃𝐏𝐏 − 𝟎𝟒 

 𝐓𝐨𝐩𝐢𝐜𝐬: 
• Transpose of matrices. 


